
PAGE 1
You are now ready to program the timer and reattach lid.  Timer setting and further set up instructions are on page 2.

ITEM# 74000

STEP 1: Install the three "C" shaped metal feet that are included in your hardware packet.  Take one 5/16 x 3/4 length bolt  
and insert in the hole of the foot bracket.  Next insert the threaded portion of the bolt through one of the three mounting
holes on bottom of the hopper.  Once bolt is inserted, place the 3/4 metal washer over the bolt on the inside of the hopper. 

but can still be pivoted over for refilling the unit.

STEP 3: Install battery.  *NOTE. DO NOT USE HEAVY DUTY BATTERY.  USE A HIGH QUALITY ALKALINE 6V LANTERN STYLE 
BATTERY SUCH AS ENERGIZER #529.*  Remove the long bolt on the battery holder.  Slide battery into position using a tilting

Do not fully tighten each nut one at a time.  Work in a rotating fashion three to four turns for one, move to next and turn

Now install the 5/16 locking nut.  Use a 1/2 wrench or socket to tighten completely, and repeat steps for the other two feet.

STEP 2:  Using a 3/8 wrench or socket tighten all three nuts on the feed plate until all three springs are completely collapsed.  
This is critical to keep from spilling of attractant, corn, etc until the unit is hung and ready to use.  **Do not over tighten!  
When tightening these three nuts, tighten each nut three to four turns until the feed tray's springs are fully compressed. 

SHAKEDOWN FEEDER INSTRUCTIONS

SHAKEDOWN SET UP

QUESTIONS:
PLEASE CALL OUR CUSTOMER SERVICE DEPARTMENT:

318-255-1834 / 800-488-3006
INFO@ONTIMEFEEDERS.COM

2488 HIGHWAY 33, RUSTON, LA 71270

three to four times, etc. at an even rate until the springs are compressed.

STEP 3:  Gently remove the hopper lid.  Squeeze both sides of the white power plug and disconnect it.  Set the lid aside.

 your choice. It is very important to keep the unit level during filling.

NOTE: This unit does not dispense at the same rate of standard wildlife feeders.  In most cases, a 3-4 second run time 
is a more than adequate length of time depending on the feed plate height adjustment. 

STEP 4: Attach the hanger bracket.  To attach the hanger bracket, take one of the 3/8" bolts and slide through the hanger
bracket, then slide on one of the included rubber washers. Next insert the bolt and rubber washer through the hole on the
side of the barrel.  Place the metal fender washer then nut onto the bolt that is now extending into the inside of the barrel.
Repeat on opposite side.  Slowly tighten until the hanger bracket will remain vertical without assisting/holding it vertical

product. Once filled, you will reconnect the white plug and replace the lid.  This unit can be filled with a custom mixture of

power clips backwards.

FILLING THE FEEDER:  Do not fill feeder until the unit is at location to be hung.  Make sure the feet are on level ground.
If connected, disconnect the white plug to remove the lid from the motor.  Now you will be able to fill the unit with 

motion.  The negative battery spring will be inside the oval cut out.  The positive terminal will be outside of the oval cut out
near the digital timer.  Once battery is in position reinstall the long battery holder screw.  Connect the digital timer to the
battery using the alligator clips.  DO NOT CONNECT POWER CLIPS BACKWARDS.  Connect the red alligator clip to the 
positive (+) battery spring.  Connect the black alligator clip to the negative (-) battery spring.  Again- Do not connect the 



FIGURE 1 Time of Day

12:00PM

FIGURE 2 Feed Time

7:00 A M

1

FIGURE 3 Run Time

08
1

PAGE 2

ON TIME WILDLIFE FEEDERS IS NOT
RESPONSIBLE FOR VARMINT

DAMAGE TO YOUR FEEDER UNIT.
HEAVY SCREEN WIRE IS RECOMMENDED
TO SHIELD YOUR UNIT FROM VARMINTS.

SHAKEDOWN FEEDER
INSTRUCTIONS

ITEM# 74000
After setting the digital timer (instructions below), reconnect the white power wire plug.  The test feature on the digital 
timer should now function.  
NOTE: Regardless of the number of seconds the unit is programmed to run, the test feature only runs for 5 
seconds.

STEP 3: The 7:00am setting that now appears on the display has been factory installed.  This is a very common time that is used often, but if the 7:00am setting is not 
desired, you can pulse or hold the up or down arrow buttons until the desired time is displayed.  (Please note the small number 1 in the lower left hand side of the display. 
– This is the first feed time for the unit.  A total of 6 are possible. – We will refer to this number as we move to the following steps.) After the desired feed time is 
displayed, press the SELECT/ENTER button one time.  The display will show FIGURE 3.

STEP 2: Use the up or down arrow keys to change the 12:00pm setting to the correct time of day. (Also make sure you are on the correct AM or PM.) There are no 
buttons to move the AM or PM.  You will have to fully cycle the clock to get to the correct time setting. You can pulse the keys, or to rapidly advance the movement of the 
time, you can hold the key down and after a moment, the time will begin its rapid advancement. After the correct time of day is on the display, press the SELECT/ENTER 
button one time. The display should show FIGURE 2.  Now proceed to STEP 3.

HANGING YOUR UNIT: You are now ready to hang your Shakedown Feeder.  Recommended height is 
approximately 60 inches from the feed plate to the ground.

FEED PLATE SETTING: Using the test function of the timer, begin to adjust the feed plate downward by loosening 
the nuts on the feed plate.  Do this in small increments and use the test function of the timer until a satisfactory 
output is achieved.  While testing capture the test feed in a container, so that you will be able to reuse in the hopper.

FINAL STEP: Install the included rain skirt.  Place the velcro nylon skirt around the hopper just under the protruding 
support band on the exterior of the hopper.  Now position the black rubberband that is pre-installed on the hopper so 
that 1/2 of the band is on the hopper, and the other half covers the top of the rain skirt.  Helpful tip: Move the rubber 
band, not the skirt.) At minimum the bottom of the rain skirt should be level with the bottom of the feed plate.

Setting the digital timer.

STEP 1: If the battery is already connected, unclip the battery for 15 seconds—then reattach the clips to the battery. This clears out all of the memory in the unit.



FIGURE 4 Speed

100%
1

FIGURE 5 Feed Time

4:00 PM

2

FIGURE 6 Run Time

08
2

FIGURE 7 Run Time

OFF
2

FIGURE 8 Armed

12:00PM

PAGE 3

STEP 9: Looking at figure 8 you see the word “Armed” which indicates that your unit is now in service.  It will perform the commands that you have programmed.  You 
can test your unit by pressing the test button.  (This will set up a count down from 10-9-8----00 and at the 00 your unit will run for 5 seconds at a 100% motor speed.) Note 
that the 100% motor speed is regardless of any other speed you may have set.  Once you confirm that the test has successfully run, your unit is ready for use.

NOTE: While working with your unit, if the buttons have not been pressed for two minutes, the screen will go blank.
This is a power saver feature.  If the screen goes blank, you can press any key one time and restore the screen. However, if the screen is different from the one you were 
working with at the time it went blank, push the SELECT/ENTER button repeatedly until the screen you were working with appears. If you go past the screen – simply 
keep pressing the SELECT/ENTER button until your screen comes back around.
NOTE: The screen will indicate all characters for 1 second once the battery is installed.  Then the screen will show 12:00PM.  If no programming activity is initiated, the 
unit will automatically set itself at 12:00PM, Noon, for a 5 second run time.
TESTING THE UNIT: The test button can only be used while on the “ARMED” screen.  Pressing the test button will sequence the screen to a countdown from 10 to 1.  It 
will run when it reaches 0.  The screen will return to “ARMED” automatically when the test is complete.

ON TIME WILDLIFE FEEDERS IS NOT
RESPONSIBLE FOR VARMINT

DAMAGE TO YOUR FEEDER UNIT.
HEAVY SCREEN WIRE IS RECOMMENDED
TO SHIELD YOUR UNIT FROM VARMINTS.

STEP 4: The display should now show FIGURE 3. Note the number 1 in the lower left side of the display (It shows this is still concerning your number 1 feeding).  The 08 
setting is factory installed and is a very common setting.  If this setting is not what you desire, press the up or down arrow key until the number of seconds of run time you 
want are correct. A possible of 1 to 30 seconds can be set.  After the correct number of seconds are on the display, press the SELECT/ENTER button one time. The 
display should now show FIGURE 4.

STEP 5: Note the number 1 in the lower left side of the display.  This is still concerning your number 1 feeding.  Speed – refers to the speed of the motor. There are 3 
possible speeds of the motor: 50%, 75%, and 100%.  The 100% is used most often in the field and is therefore factory set to automatically show on the screen.  If this 
speed is not desired simply use the up or down arrow buttons to set the speed you would like to use.  After the correct speed is displayed, press the SELECT/ENTER 
button one time.  The display should now show FIGURE 5.

STEP 6: At this point, your display should appear similar to FIGURE 5. The number 2 in the lower left hand bottom of the display indicates the second feed time.  The 
4:00pm is factory preset, and is another very common time to feed.  If this is not the time you would like, press the up or down key to set the desired time for the second 
feeding. Once set press the SELECT/ENTER button one time.

SHAKEDOWN FEEDER
INSTRUCTIONS

ITEM# 74000

STEP 7: Your display should look like FIGURE 6. At this point refer to STEP 4 and repeat as you did when setting your first feeding. The only difference will be the 
number 2 in the lower left hand side of the display which is indicating that this is concerning your second feed time.  At this stage of programming your unit, if you do not 
want to use the second feed time, set the run time to 00.  The display will automatically show “OFF”.  This will end the second feeding.  Even though the second feed time 
was set, the run time being set to 00 will end your programming session.  The screen will look like FIGURE 7.

STEP 8: If you choose to continue, set run time from 1 to 30 seconds, and while repeating STEPS 3 thru 5, take note to the small number in the lower left hand corner 
which will indicate which of the 6 possible feedings you are setting. After finishing this step press the SELECT/ENTER button, and the screen will appear like FIGURE 8.



HELPFUL TIPS!

  Large end of hook through lid Hook stowed on side of barrel
PAGE 4

QUESTIONS? CONTACT US!
2488 HIGHWAY 33
RUSTON, LA  71270

318-255-1834
INFO@ONTIMEFEEDERS.COM

REFILLING: It is not necessary to unplug the white power wire plug when refilling.  Using the supplied 
hook, place the large portion of the hook through one of the two vent holes on the side of the barrel lid.  
Hang the small end of the hook on the rim of the barrel.  This will hold the lid out of the way while 
refilling the unit.  The hook can also be stowed on the side of the hopper, hung between the hanger 
bracket and barrel.  See below images:

SHAKEDOWN FEEDER
INSTRUCTIONS

ITEM# 74000

Hardware

2- 3/8" BOLT AND NUT
2- RUBBER WASHERS
2- FENDER WASHERS
1- LID HOOK (See use below)

**Battery life can be increased by increasing the gap between the feed plate and bottom of hopper.
**Changing feeds may require re-adjustment of feed tray height.

NYLON RAIN SKIRT
FEET (SET OF 3)
FEET HARDWARE: 3- 3/4 X 5/16 BOLTS,
3- 3/4 WASHERS AND 3- 5/16 LOCK NUTS

**Extend life of unit by not running while empty to avoid excessive wear and tear on mechanisms.


